e ATV
¢ &
% x Retractable Pull @ RoHSHERES URHS
=
URH ursssmzE
E S
T GN425.2 N
6 )
tl. ]
3 . - g' Q - =
», =
Lo URH
= -
H CAD DATA [2D](3D] ‘% URH GANTER
down load b & @WHEE
URHS GERMANY
T . R
b ® UNSTETIN AT ORTF, ERALEVEEE, BMFFEEET
z ZEPTEET,
Q o4 e 25— LBl
E - URHS| — 25> L A8
L @ EVX T KRS, EFEM -REMICTChATRK HETT,
= L M o £RBICWMYUDITHDF Y -EEPFBELTVET,
5 ® HE - fHEF
= A1k :SUM22L, V0L Xy¥ —[URH]
Q SUS303 ———[URHS
flf Fvh-EE£:845C —[URH]
3 SUS304 —— |URHS
El
=
o (RF1—IL8Y) unit:mm
Catalog Number  [Price(Yen) Load Mass
B i L1 L M Lm H Hi h A D HEWE| HE
ruﬁg (FA) (N) (g)
5 URH-100 5,320 100 118 | M10X1 14 43 34 14 10 18 1000 | 148
URH-120 5,350 120 138 | M10X1 14 43 34 14 10 18 1000 | 160
G'i? URH-180 5,540 180 198 | M10X1 14 43 34 14 10 18 1000 | 196
S
SN URHS [EE %) unitan
Catalog Number  |Price(Yen) Load Mass
tl" & fifiA& L1 L M Lm H Hi h A D MAWE| HE
v () (N) (g)
& URHS-100 9,110 100 118 | M10X1 14 43 34 14 10 18 1000 | 148
URHS-120 9,180 120 138 | M10X1 14 43 34 14 10 18 1000 | 160
K URHS-180 9,400 180 198 | M10X1 14 43 34 14 10 18 1000 | 196
ok AOFTEATAHEWETT, HLIIP.200ET BRI,
[
t} SEYICHIE-T (»H14:005BitE ¢ ] EXAE ® V)D&
g h WD EDOESE7TmmEL T ICLTLEE,
=
L
H
& | URH-100
g
N UrS 782 TIVEF L1
q (RF1—IV8Y)
\l'z ~ o
ot
By
ot
=
=
w]
m
X

238 ] AV eEVI— phone : 0575-23-1162(E&) fax:0575-23-1129(Ei#) e-mail : info@nbk1560.com




